
  

 

 

1. xU igj;jd; milahsg;gLj;jpfs;(Identifiers) gpd;tUtdtw;wpy; vjidf; 
nfhz;bUf;fKbahJ.  

a. vOj;Jf;fs;   d. ,ilntspfs;  
b. ,yf;fq;fs;    e. fPo;NfhLl;L FwpaPLfs;(underscores ) 

c. G+r;rpaq;fs;(zeros) 

2. xU igj;jd; nra;epuypy; Fwpg;Giunahd;iw Eiog;gjw;Fg; gad;gLj;jg;gLtJ. 
a. colon (:)     d. dollar sign ($)  

b. asterisk (*)    e. pound sign (#)  

c. ! 

3. {1, 2, 3} vDk; njhilf;Fr; rktYthdJ vJ? 

a. {1, 2, 3}    d. {2, 1, 3} 

b. {3, 2, 1}    e. {1, 2, 3, 2, 1, 3} 

c. {2, 3, 1} 

4. gpd;tUk; $w;Wf;fSs; jtwhdJ vJ? 

a. gl;bay;fs;(Lists) khw;wg;glf;$bad. d.  Sets khw;wg;glf;$bad. 
b. Tuples khw;wg;glf;$bad.  e.  Strings khw;wg;glf;$bad. 
c. dictionary khw;wg;glf;$baJ. 

5.  2 ** 3 vd;w igj;jd; fl;lisf;Fg; nghUj;jkhd ntspaPL __________MFk;. 
a. 9     d. 8 

b. 9.0     e. 8.0 

c. 6 

6. gpd;tUk; igj;jd; FwpKiwapd; ntspaPL vJthFk;? 
x = 0 

while x < 4: 

    x = x + 1 

print("x is", x) 

 

a. x is 0    d. x is 2 

b. x is 1    e. x is 3 

c. x is 4 

 

7. gpd;tUk; igj;jd; FwpKiwapd; ntspaPL vJthFk;? 
x = ['ab', 'cd'] 
for i in x: 
    i.upper() 
print(x) 

a. [ ‘ab’]   ` d.[‘ab’ , ‘cd’] 

b. [‘cd’]    e.[‘cd’ , ‘ab’] 

c. [‘ad’] 

8. gpd;tUk; igj;jd; FwpKiwapd; ntspaPL vJthFk;? 
s = 'ABC' 

n = 1 

for c in s: 

print c * n, 

n += 1 

a.A     d.A 

  B       BB 

  C       CCC 

b.A B C    e.1 4 9    

C.A BB CCC 
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9. "Welcome to Python" vd;gjid 10 jlitfs; gjpTnra;tjw;fhd kPs;tU igj;jd; $w;W 
gpd;tUtdtw;Ws; vJ? 
 

A: for count in range(1, 10): 

     print("Welcome to Python") 

 

B: for count in range(0, 10): 

     print("Welcome to Python") 

 

C: for count in range(1, 11): 

   print("Welcome to Python") 

 

D: for count in range(1, 12): 

   print("Welcome to Python") 

 

a. B Ak; D Ak;    d. A Ak;  C Ak; 
b. A, B , C Mfpad.    e. B Ak; C Ak; 
c. A Ak; B Ak; 

10. gpd;tUtdtw;Ws; vJ Python khwpfSs; nry;Ygbaw;wJ? 
a. Count     d. For 
b. Max     e.Python 

c. Min 

11. gpd;tUtdtw;Ws; vJ Python khwp my;yhjJ? 
a. List     d.Class 

b. Dictionary     e. set 

c. Tuple 

12. gpd;tUk; igj;jd; FwpKiwapd; ntspaPL vJthFk;? 
lst = [] 

nums = [15, 6] 

lst.append(nums) 

nums = [10, 30, 20] 

lst.append(nums) 

lst.sort() 

print lst 

a. [6, 10, 15, 20, 30]    d. [[10, 30, 20], [15, 6]] 

b. [[6, 15], [10, 20, 30]]    e. [[10, 20, 30], [6, 15]] 

c. [[15, 6], [10, 30, 20]] 
 

13. gpd;tUk; igj;jd; FwpKiwapd; njhlupay; uPjpahf rupahdJ? 
a. x = 0 

while x < 4 

    x = x + 1 

print("x is", x) 

b. x = 0 

while x < 4: 

    x = x + 1 

print("x is", x) 

 

c. x = 0 

while x < 4 

    x = x + 1 

   print("x is", x) 

 

d.x = 0 

   while x < 4: 

   x = x + 1 

   print("x is", x) 

e.x = 0 

        while x < 4: 

    x = x + 1 

    print("x is", x) 
 



14. gpd;tUk; igj;jd; FwpKiwapd; ntspaPL vJthFk;? 
a=[1,2,3,[4,6,8],[a,b,c],5,9,10] 

print(a[4][2]) 

a. [4,6,8]     d. [a,b,c] 

b. 4      e. 10 

c. c 

15. len([1, 2, 3]) d; igj;jd; FwpKiwapd; ntspaPL 

a. 1     d. 4 

b. 2     e. 5 

c. 3 
16. milg;gpDs;Ns ,Uf;Fk; igjd; nra;epuypd; tUtpisT ahJ? 

 
a. 4     d. 14 

b. 6     e. 20 

c. 10 
 

 
 
 
 
 
 

 
 
 

17. mUfpYs;s gha;r;rw;Nfhl;L tiuglj;jpd; tUtpisT ahJ? 

a. 45     d. 11 

b. 55     e. 56 

c. 10 

18. = 9 + 5 mod3 – 2^4/2 ,jd; tUtpisT ahJ?  
a. 0      d. 6    

b. 5      e. 9 

c. 3    
19. gpd;tUk; igjd; juTfisf; fUJf. 

'win',    ['Nimal',55,'male'],    ('abc',45,'xyz'),    {2:'name','tel':'0721475454'} 
mj;juTfSf;Fupa igjd; juT tiffs; KiwNa 

a. string,  float,  double,  array MFk;. 

b.  string,  tuple,  dictionary,  list MFk;. 

c.   string,  long,  float,  complex MFk;. 

d.   string,  array,  integer,  list MFk;. 

   e. string,  list,  tuple,  dictionary MFk;. 
 
20. r=11; y=2.5; c=4 vd r, y, c vd;Dk; khwpfSf;Fg; ngWkhdk; toq;fg;gl;Ls;J 

,jw;Nfw;g> r%3*c+10/y vd;Dk; igjd; $w;wpd; rupahd ngWkhdk; ahJ? 
a. 6.2     d. 24.0 

b. 8.0     e. 40.0 

c. 12.0 

21. gpd;tUk; igjd; $w;Wfisf; fUJf. 

A  -  s="It's correct"  

B  -  x=y=z=2.5  

C  -  x,y,z=1,2.3,'string'  

D  -   #This is not correct  

E  -  a=['string',123]  

F  -  b=5  

       while 4<=b>10:      

b+=1  

j=10 

y=4 

if j<y or j!=4: 

   j-=y 

   print j 

else: 

   y*=j 

   Print y 
 

START 

Set N to zero 

Set T to zero 

 

Display T 

Is 

N<=10 

STOP 

Yes 

No 

N=N+1 

T=T+N 



G  -  for x in range(0,12,3):      

print x  

H  -  a={'a':'b',4:40}  

I  -  def fun1(a,b=4,l=[]):      

return b*a 
Nkw;Fwpj;j $w;Wfs; njhlu;ghfr; rupahd KbG ahJ? 
a. A, B, C vd;Dk; $w;Wfs; khj;jpuk; rupahFk;. 
b. A, C, F vd;Dk; $w;Wfs; khj;jpuk; rupahFk; 
c. D,E, F vd;Dk; $w;Wfs; khj;jpuk; rupahFk; 
d. G, H, I vd;Dk; $w;Wfs; khj;jpuk; rupahFk; 
e. vy;yhf; $w;WfSk; rupahFk;. 

22. A=2==3 vDk; igj;jd; FwpKiwapd; gpd;  ngWkjp 
a. 2    d. False 

b. 3    e. Null 

c. True 

 

23.  X=4 ; Y=2  >>> X AND Y vd;Dk; igjd; $w;wpd; rupahd ngWkhdk; ahJ? 
a. 0    d. False 

b. 6    e. True 

c. 2 

 

24. X=11101 ; Y=10101  >>> X XOR Y vd;Dk; igjd; $w;wpd; rupahd ngWkhdk; ahJ? 
a. 0    d. False 

b. 8    e. True 

c. 12 

 

25. gpd;tUk; igj;jd; FwpKiwapd; ntspaPL vJthFk;? 
fibonacci = [1, 1, 2, 3, 5, 8, 13, 21] 

print fibonacci[1:3] 

a. [1, 1, 2, 3]    d. [1, 1, 2] 

b. [1, 2, 3]    e. [1, 2, 3, 5, 8, 13, 21] 

c. [1, 2] 
 

26.  gpd;tUk; igj;jd; $w;Wf;fSs; rupahdJ / rupahdit  

A. x,y = 1, 1    B. x = y = 1    C. x, y = y, x    

 (1) A kl;Lk;      (2) B kl;Lk;;     (3) A, Ak; B Ak; kl;Lk;   

 (4) B Ak; C Ak; kl;Lk; (5) A,B,C Mfpa vy;yhk; 

27.  10 * 3 ** 2 % 9 vDk; igj;jd; $w;wpd; tUtpisT  

      (1) 0     (2) 9    (3) 10   (4) 60  (5) 90        

28.  gpd;tUtdtw;Ws; nghUj;jkw;w igj;ud; Identifier  

       A. School7     B. 7_School             C. _School     D. School @7   E. _7_School   

              (1) B kl;Lk;   (2) A Ak; C Ak; kl;Lk;;      (3) E kl;Lk; 

       (4) B Ak; D Ak; kl;Lk;                 (5) B Ak; D Ak; E Ak; kl;Lk  

      



gpd;tUk; gha;r;ry; Nfhl;Lg;glj;ij mtjhdpj;J   29, 30, 31 Mfpa tpdhf;fSf;F tpil jUf.  

 

 

 

 

 

 

 

 

 

 

29. 

 

30. 

 

31. 

 

 



 

 

 

 

 

 

 

 

32.  

   gpd;tUk; $w;Wf;fisf; fUJf.  
         A. Assembler   B. Interpreter    C. Source Program     D. Compiler     E. Object Program  

    ,tw;Ws; nkhopkhw;wpfs; (Translators) vit?  
      (1) A khj;jpuk;  (2) A, C, E khj;jpuk;   (3) C,E khj;jpuk;   

 (4) A,B,D khj;jpuk;  (5) B,D khj;jpuk; 

 

 

PART B 

01.  

10 khzth;fshy; ICT ghlj;jpw;F ngwg;gl;l Gs;spfis cs;sPL nra;J mg;Gs;spfspd; ruhrupg; 

ngWkhdj;ijf; fz;L mr;ruhrupg; ngWkhdj;jpw;F Vw;g tUtpisit ntspg;gLj;Jtjw;fhd 

fPNo jug;gl;Ls;sJ.  

Start 

 Variable declarations 

 Loop ( x<=10 ) 

  Read ICT  {ICT is a variable contain the value of Ict marks} 

  Find Total of ICT marks 

 End Loop 

 Find Average 

 Selection Average >50 then display “Good” 

  Else display “Bad” 

 End Selection 

END 

a. jug;gl;l Kiwf;Fg; nghUj;jkhd Nghypf;FwpKiw vOJf 

b. gha;r;rw;Nfhl;Lg; glj;ij tiuf. 

c. igj;jd; FwpKiw vOJf 

02.  



a.  nkhopj; njhFg;gpfs; (Compilers), tupnkhop khw;wpfs; (Interpreters) Mfpatwwpd; 
mbgg;ilj; njhopyf;isf; FwpggplL; > mtwiwg; gadg;LjJk; NghJ fpilf;Fk; 
mD$yqf;isAk; gpujp$yq;fisAk; xg;gpLf. 

b.  gpd;tUk; igjd; nra;epuy;fspilNa tO ,y;yhj nra;epuy;fisf; fhl;Lf. 
tO ,y;yhj nra;epuyf;is eilKiwgg;Lj;Jk; NghJ fpilf;Fk; tUtpisTfisf;     
fhl;Lf. 
tO cs;s nra;epuy;fisj; jpUj;jp mr;rupahd nraepuy;fis eilKiwg;gLj;;Jk; NghJ 
fpilf;Fk; tUtpisTfisf; Fwpg;gpLf. 

(i)  animals=['Dog','Rat','Cat'] 

animals.sort() 

for animal in animals: 

print i,animal.strip(),len(animal) 

i t=1 

(ii)  def times(a): 

for i in range(1,12): 

print a,' x ', i,' = ',a*i 

times(5) 

c.  xU tFg;gpd; khztu;fspd; %dW; ghlqf;Sf;Fg; ngw;w Gs;spfs; xt;nthU 
khztdJk; 

ngaUld; gpd;tUkhW "Input.text vd;Dk; ngaupYs;s Nfhg;gpy; Fwpg;gplg;gl;Lssd. 
Nimal, 20, 10, 30 

Saman, 40, 60, 45 

Mala, 22, 65, 75 
xt;nthU khztDk; %d;W ghlq;fSf;Fg; ngw;w Gs;spfspd; $l;Lj;njhifAk; ,ilAk; 
gpdt;UkhW cs;sPL nraa;g;gl Ntz;L;nkdf; fUJf. 

1. Nimal 60  20.0 

2. Saman 145  48.3 

3. Mala 162  54.0 

,jw;fhf mikj;j g+uzkw;w xU igjd; FwpKiw fPNo fhzg;gLfpd;wJ. ,f;FwpKiwapd; 
g+uzkw;w jhdq;fs; Kwpe;j NfhLfspdhy; fhl;lg;gl;Ls;s. 

def total(marks): 

#compute the total 

total=0 

for mark in marks 

_ _ _ _ _ _ _ _ _ _ 

return total 

f=open("inpit.text") 

line=f.readline() 

i= _ _ _ _ _ _ _ _ _ _ 

while(line ='') 

record=line.strip('\n').split(",") 

aggregate=total_ _ _ _ _ _ _ _ _ _ 

print i,_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ 

i +=1 

line = _ _ _ _ _ _ _ _ _ _ 

f.close() 

Nkw;Fwpj;;j FwpKiwfis cupa tUtpisitg; ngWtjwF; cfe;jthW g+uzg;gLj;Jf. 


